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SA B HRA(SH) - MRAY - B O & o4 o1& o SImE=ET
NESI 11,939,741 13,119,561 A 1,179,820
= 8,907,800 10,030,800 A 1,123,000
S 3,031,941 3,088,761 A 56,820
ANEHY d8g S 11,876,141 13,049, 361 A1,173,220
= 8,907,800 10,030,800 A 1,123,000
L= 2,968, 341 3,018,561 A50,220
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EXNFMUAY SH 4,800 5,100 A 300
203 ¥R =&l 2,100 2,400 A 300
03 AZFIHRFAH| 2,100 2,400 A 300
Oulat= A 300 0 A 300
DAHSHO NBHE & 299,237 300,237 A 1,000
= 94,000 94,000 0
L= 205,237 206,237 A 1,000
NE=2 6N d CHIHAY ZA 13,354 14,354 A 1,000
101 14| 13,354 14,354 A 1,000
10 JIZtMZ22Hs28+ 13,354 14,354 A 1,000
Oulat= 2 21,000 0 A 1,000
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= 8,813,800 9,936,800 A 1,123,000
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= 10,000 10,000 0
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= 10,000 10,000 0
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= 3,877,000 5,000,000 A 1,123,000
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OEZ2 XctAIEE HAstALY 4,032,080 5,200,000 A1,167,920
= 3,877,000 5,000,000 A 1,123,000
= 185,080 200,000 A44.920
HY2AZH (XX 63,600 70,200 26,600
Jl=2Z 4l 59,400 66,000 26,600
Jl=&d| 59,400 66,000 26,600
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201 2Er24d| 28,800 32,000 N3,200
01 At22telyl 28,800 32,000 A3,200
O At E 2 A 3,200 0 A 3,200
202 (4l 30,600 34,000 A3,400
01 2 30,600 34,000 A3,400
OularE 2 A 3,400 0 A3,400




